[ R 77 42 AR A 4 4%

() 5—6X=—34+6X

() —4—9X=7x—7

(3) 5—4x=—8x—2

() 4x—6=2—X

(5) —842X=9Xx+6

(6) —Bx—3=—3x+9

(H —HBhx—2=—7—8x

() —3—8x=3x—+8

() —2—4-X——5x+47

(10) 3X+3=—6X+2

(1) X4+7=34+X

(1) —BeX+2=9—3X

(1) 3X+1=2+6X

(1) 44+TX=—X+2

(15) —94-x=74+8Xx

(16) —ex+4=7x—+1
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5—6Xx=—3-+6X

—4—9x=7X—7
5—4x=—8x—2
4X—6=2—X

—8+2X=9x+6

—5X—3=—3x+9

—5X—2=—7—8X

—3—8x=3x+8

—2+X=—05X+7

3X+3=—6x+2

OX+7=3+X

—b6X+2=9—3x

3X+1=2+4+6X

4+7X=—X+2

—9+X=7+38X

—bX+4=7x+1

x=2,3
x=3,16
X=—7,/4
x=8,5
X= —

X= —
x=-—5,3
x=-—1
x=3,2
x=—1,9
Xx=—1,2
X=—7,/3
x=—1,3
x=—1/4
x=—167

x=3,713



